3. HHTRIZER CAPN)
N o 26 A E 21 £ E 28
I
B % B % BE %
5 55,436] 35.0 54,786 33.2 53,305 33.0
Ei=A ) 19,167  11.1 19,051 11.5 18,708 11.6
) 6,352 3.9 5,575| 3.8 5151 3.2
i
| ArErET 6, 486 3.6 6,914 3.9 6,018 3.7
HH
H A BT 11, 230 6.3 10, 646 6.7 10, 095 6. 2
& ERED 5, 629 3.4 5, 488 3.4 4,977 3.1
A0 (L HT 6, 944 3.4 7,140 4.2 8, 236 5.1
N
g | HLORHT 2,351 0.9 1,937 1.4 2,417 1.5
i%
M| 5 skl 1,558 1.2 1,704 0.9 2,799 1.7
A BPET 529 0.4 736 0.3 806 0.5
N EF 115,682  69.2 113,977 69.3 112,512  69.6
. HHE IR T 2, 254 1.0 2,532 1.3 2,241 1.4
%§
41 7 LT 17,015 10.7 16,896 10.2 16,447  10.2
g% =T 10, 964 6.3 11, 470 6.6 12,122 7.5
/N 3t 30, 233 18.0 30, 898 18. 1 30,810 19.0
R (ER%#R<) 2,636 1.5 2, 449 1.6 2,622 1.6
HUEBIRF 15, 237 9.5 12,412 9.1 12,933 8.0
Z D, 3, 284 1.9 3,403 2.1 2, 857 1.8
= &t 167,072|  100.0 163, 139|  100.0 161, 734| 100.0




(C2N)

" " 26 e E 27 4 B 28 A JE
B % B % BE %
R T 98,317 41.5 97,182 41.4 98,976 41.7
Ei=A ) 27,744  11.9 27,668 11.7 28,681 12.1
| GRIRTET 8, 470 3.6 8,126 3.6 8, 066 3.4
i
| ArErET 10, 655 4.6 10, 232 4.5 9, 680 4.1
HH
H A BT 16, 340 6.6 16, 319 6.9 16, 325 6.9
& ERED 6, 197 2.7 6, 166 2.6 6, 290 2.7
A0 (L HT 5, 992 2.4 6, 694 2.5 7, 491 3.2
N
g | HLORHT 2,041 0.8 1,878 0.9 1, 840 0.8
i%
M| 5 skl 1,263 0.5 1, 339 0.5 1,533 0.6
A BPET 339 0.1 276 0.1 259 0.1
N 177,358  74.7 175,880  74.7 179, 141 75.5
. HHE IR T 1, 607 0.7 1, 569 0.7 1,708 0.7
%§
a8 7 EHT 22,410 9.4 21, 134 9.4 21,432 9.0
g% =T 11, 833 5.0 12, 583 5.0 13, 165 5.5
/N 3t 35,850 15.1 35, 286 15. 1 36, 305 15.3
R (ER%#R<) 1, 796 0.8 1,785 0.8 2,075 0.9
AT 19, 544 8.5 17, 526 8.2 17, 065 7.2
Z D, 2, 849 1.1 2, 806 1.2 2,679 1.1
= &t 237,397  100.0 233,283  100.0 237,265  100.0




